
ITEMS NOT SHOWN

REVISIONS

REV. DESCRIPTION DATE APPROVED

OD ORIGINAL DRAFT 2/2016 JFL

ITEM 
NO. PART NO. DESCRIPTION QTY. MSRP

1 H230 screw, 10-32 x 1/2" phil pan head, s/s 22 $0.99 ea
2 H246 screw, 8-32 x 3/8" SHCS, alloy, Black 2 $0.99 ea
3 H611 handle, S-300H, black 1 $25.99 ea
4 H304 screw, 8 x 5/8", phil oval, s/s 6 $0.99 ea
5 G030 lid, vac tank, 3.5", clear 1 $13.99 ea
6 G058 vac tank deflector 1  $8.99 ea
7 H451 latch, S-300H 1 $17.99 ea
8 H664 filter strainer, spotter 1 $6.49 ea
9 H453 elbow, 90 deg, pvc, 90, 3/4" mpt x 3/4" slip 1 $4.99 ea
10 P610 vac tank, S-300H 1 $49.99 ea
11 G036 cap, 2.5" threaded, tethered 1 $3.49 ea
12 G004 gasket, vacuum motor 2 $8.99 ea
13 C316  vac motor, 2 stage, 115V, peripheral 1 $99.99 ea
14 H404 nut, hex, 3/8"-16 4 $0.99 ea
15 H384 washer, 3/8 flat, s/s 4 $0.99 ea
16 H637 caster, swivel, stem, 2", w/out lock 4 $7.99 ea
17 H273 nut, kep, #10-32 zinc 10 $0.99 ea
18 H484 plate, mounting, QD 1 $4.99 ea
19 H445 fitting, strain relief, w/ spring, 1/2" npt 1 $8.99 ea
20 E550 power cord, pigtail, 30", 12/3, black 1 $11.49 ea
21 P568A cord lock, s-type 1 $8.99 ea
22 E515 switch, rocker, 2 position 3 $13.99 ea
23 H310 plate, switch, MyteeLite, 3 hole 1 $6.99 ea
24 B102 qd, brass, 1/4" f x 1/4" fpt 1 $17.99 ea
25 B130 45 deg, street elbow, brass, 1/4" male NPTF 1 $5.49 ea
26 B107 nipple, brass, 1/4"m, hex 2 $3.19 ea
27 P612 base, S-300H 1 $59.99 ea
28 E574 Thermostat, 310°F ± 10°F, Manual, 1/4" 1 $17.99 ea
29 H274 screw, 6 x 3/16, phil pan head, self-tapping 5 $0.99 ea
30 E573 Thermostat, 200°, Auto, 1/4" 1 $16.49 ea
31 E571 heating rod, 600W, 115V 1 $49.99 ea
32 B142A coupling, brass, 1/4" fpt x 1/4" fpt 1 $4.49 ea
33 B108 valve, brass, 1/4" check 1 $20.99 ea
34 B646 adapter, 1/4" mpt x 1/8" fpt 1 $5.99 ea
35 B647 elbow, 90 deg, 1/8"mpt x 1/8" fpt 1 $4.99 ea
36 C378 pump, 55psi, 115V flojet 1 $41.99 ea
37 AH184 hose, pulse, 3/8" x 14-1/2" (OAL), f 1 $27.99 ea
38 H250  bracket, set 55 psi pump 1 $4.99 ea
39 B110 adapter, brass, 1/4" sw barb x 1/4" fpt, w/gasket 2 $3.99 ea
40 H212 flat washer, 9/16"ID x 1 1/16"OD, AN960-C916 2 $0.99 ea
41 B119 filter, strainer, 1/4" 1  $3.99 ea
42 PH634-12 sol hose, 1/4" silicone braided, clear 1 $6.49 ft
43 B170 ferrule, 1/4" brass 2 $0.99 ea
44 B194 nipple, hex, 1/4" mpt x 1/8" mpt 1 $8.99 ea
45 B103 elbow, brass, 90 deg, 1/4"mpt x 1/4" fpt 1  $4.49 ea
46 H903A heater, aluminum cast, single 1 $78.99 ea
47 P611 sol tank, S-300H 1 $79.99 ea
48 H312 plate, connecting, MyteeLite 5 $6.99 ea

PART NO. DESCRIPTION QTY. MSRP

E631 power cord, ext, blue lit, 25', 12/3 1 $59.99 ea

D

C

B

A

B

C

D

12345678

8 7 6 5 4 3 2 1

E

F

E

F

S-300H
SHEET 1 OF 3

Spotter II

2/2016

OD
SCALE: 1:16

REVDWG.  NO.

C
SIZE

TITLE:

NAME DATE

COMMENTS:

CHECKED

DRAWN

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
MYTEE PRODUCTS, INC.  ANY 
REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF
MYTEE PRODUCTS, INC. IS 
PROHIBITED.

A

DO NOT 
SCALE DRAWING

858-679-1191
mytee PRODUCTS, INC.M.LaBarbera



12

13

12

10

6

5

4

19

20

22

1

23
17

17

18
1

24

25

26

27

36
45

39

37 40

40

26 41

42

1

38

17
46

16

47

48

1

11
28

29

30

31

43

32
33

1

3

1

8

9

14

15

7
2

21

34
35

3944

D

C

B

A

B

C

D

12345678

8 7 6 5 4 3 2 1

E

F

E

F

S-300H
SHEET 2 OF 3

Spotter II

2/2016

OD
SCALE: 1:16

REVDWG.  NO.

C
SIZE

TITLE:

NAME DATE

COMMENTS:

CHECKED

DRAWN

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
MYTEE PRODUCTS, INC.  ANY 
REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF
MYTEE PRODUCTS, INC. IS 
PROHIBITED.

A

DO NOT 
SCALE DRAWING

858-679-1191
mytee PRODUCTS, INC.M.LaBarbera



1

2

3

4

5

6

7

8

ITEM 
NO. PART NO. DESCRIPTION QTY. MSRP

1 B101 qd, brass, 1/4" m 1 $8.49 ea

2 B104 bushing, brass, 1/4" mpt x 1/8" f 1 $1.99 ea

3 AH135 sol hose, 1/9" x 97", (OAL), m 1 $36.99 ea

4 8400P Air Lite 1 $114.99 ea
5 G079 hose wrap, heat guard 1 $2.99 ea

6 H360 vac hose, 1-1/4" x 8' 1 $19.99 ea
7 H133 Cuff-Lynx, 2" hose x 2" female 2 $3.99 ea

8 H943 cuff, black vinyl, hose, 1-1/4 x 1-1/4 1 $4.99 ea

D

C

B

A

B

C

D

12345678

8 7 6 5 4 3 2 1

E

F

E

F

S-300H
SHEET 3 OF 3

Spotter II

2/2016

OD
SCALE: 1:16

REVDWG.  NO.

C
SIZE

TITLE:

NAME DATE

COMMENTS:

CHECKED

DRAWN

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
MYTEE PRODUCTS, INC.  ANY 
REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF
MYTEE PRODUCTS, INC. IS 
PROHIBITED.

A

DO NOT 
SCALE DRAWING

858-679-1191
mytee PRODUCTS, INC.M.LaBarbera


	BOM
	Drawing View1

	EXPLODE
	Drawing View2

	HOSE ASSEMBLY
	Drawing View3


